Maytag XAV13PRBWW 06 - TRANSMISSION

Maytag Commercial Maytag XAV 13PRBWW Washer Parts Parts Diagram 06 - TRANSMISSION
Click on the part number to view part

Original Part Number Replaced By Part Description
001 25-7941 "O" Ring, Agtr Drive Shaft
002 21001065 Screw, No.10-24 x .50 Hxnibhd
003 35-3829 12002213 Thrust Bearing Kit
004 LA-2007 12002213 Thrust Bearing Kit
005 21001533 35-5655-1 Seal
006 35-2082 Washer, 1.250DX.5301DX.062
" 35-2132 Washer, 1.250DX.5301DX.032
007 21001515 12001598 Tub Seal Assembly--W
008 25-7854 Ring, Retaining
009 21001508 12001561 ig::“mgb@”d szl [ onelin
010 35-2205 Bearing, Spin
011 35-2007 Cap, Dust
012 21001511 12001562 Bearing Assembly
" 35-2205 Bearing, Spin
013 21001518 Support, Tub

014 21001532 Brace, Tub


http://www.pwslaundry.com/c-299313-commercial-maytag-xav13prbww-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7800432-maytag-25-7941-washer-o-ring-agtr-drive-shaft.html
http://www.pwslaundry.com/i-7796909-maytag-21001065-washer-screw-no-10-24-x-50-hxnibhd.html
http://www.pwslaundry.com/i-7796375-maytag-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-7796375-maytag-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-7802004-maytag-35-5655-1-washer-seal.html
http://www.pwslaundry.com/i-7801991-maytag-35-2082-washer-washer-1-25odx-530idx-062.html
http://www.pwslaundry.com/i-7801992-maytag-35-2132-washer-washer-1-25odx-530idx-032.html
http://www.pwslaundry.com/i-7796360-maytag-12001598-washer-tub-seal-assembly-w.html
http://www.pwslaundry.com/i-7800431-maytag-25-7854-washer-ring-retaining.html
http://www.pwslaundry.com/i-7796358-maytag-12001561-washer-bearing-and-seal-housing-assembly.html
http://www.pwslaundry.com/i-7801993-maytag-35-2205-washer-bearing-spin.html
http://www.pwslaundry.com/i-7801986-maytag-35-2007-washer-cap-dust.html
http://www.pwslaundry.com/i-7796359-maytag-12001562-washer-bearing-assembly.html
http://www.pwslaundry.com/i-7801993-maytag-35-2205-washer-bearing-spin.html
http://www.pwslaundry.com/i-7796917-maytag-21001518-washer-support-tub.html
http://www.pwslaundry.com/i-7796919-maytag-21001532-washer-brace-tub.html

015 25-7895 21001858 Screw 5/16-18 x 1/2

017 35-2017 Retainer, Brake Spring

019 25-7930 21001858 Screw 5/16-18 x 1/2

021 35-2948 35-6714 Brake Roto

023 35-2018 35-6918 Stator, Brake

025 21001536 35-6615 Ht TranS S



http://www.pwslaundry.com/i-7796921-maytag-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-7796910-maytag-21001163-washer-housing-suspension.html
http://www.pwslaundry.com/i-7801987-maytag-35-2017-washer-retainer-brake-spring.html
http://www.pwslaundry.com/i-7796923-maytag-21001910-washer-spring-brake.html
http://www.pwslaundry.com/i-7796921-maytag-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-7796916-maytag-21001509-washer-screw-high-performance-plastic.html
http://www.pwslaundry.com/i-7802007-maytag-35-6714-washer-brake-roto.html
http://www.pwslaundry.com/i-7796928-maytag-21002026-washer-snubber.html
http://www.pwslaundry.com/i-7802008-maytag-35-6918-washer-stator-brake.html
http://www.pwslaundry.com/i-7796375-maytag-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-7802006-maytag-35-6615-washer-ht-trans-s.html
http://www.pwslaundry.com/i-7796360-maytag-12001598-washer-tub-seal-assembly-w.html

	Maytag XAV13PRBWW 06 - TRANSMISSION

